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[Time: 1:53 Hours]

N.B

Q.1

Economics - VIII (Compulsory)
(Statistical Methods)

1348

[Max. Marks: 50]

Please check whether you have got the right question paper.
All questions are compulsory.

Use black or blue pen only.

Use of simple calculator is permitted.
Use pencil for diagram.

Use of any signs, attracting attentions is prohibited.
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Tq g AIsfaur 3T 3Te.
had [Hedr fohar Sredr Sar ara FIET.
JTET AUTHIATAT ITIE gIaTT9iT 3118,
MHITATS! Af=Fol=T aaR .

PIUTCET STaTatreh HUT fohal FAT U i 31g.

A) Fill in the blanks. (attempt all)
1) Median = size of Eth item = ---------—-

Y P1qo EP1CI1

= Qfldy o ssidn
2) Pos 2 Poqo
3) CE, =

Y Poq1

4) If, N = 7,% X = 72, then X(mean) = ----------

fl_fo

2(f)=fo~f2

3) ReprFar Sen R.(Ad 3far)
?) FLIH = T AT GG T oo

4 /ZPﬂIo XPigy ﬁé’? __________
Q) POl C 2Poqo - X Poq1 * 100 %- e Q:r:r

3) CF.= —

) SR, N=7,NX =72, R® X (AH) =

$) Z =1L, +

fl_fo
2(f)=fo-f:

= (L = Ly) & T - T 3.
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(L, — Ly) This formula is given ----

% 100 This formula of index number is given by ----------- .
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Q.2

B)

Answer in a sentence (attempt all)

1) What is Arithmetic Mean?

2) State the definition of standard deviation.

3) If,10.5,11.5, 12.5, 13.5, 14.5 them derive mean.
4) What is meant by secondary data?

5) Mean deviation is denoted by the letter.

) Tl areFdTd 3cak folgl. (Fa Afar)

A)

?) AR HATET FgUTST HrI?

) YA faueI=T saredr @i,

3) SR, 10.5,11.5,12.5,13.5, 14.5 3@ dX HATET FlarT.
y) eedrae mfgdr Fgorar 1a?

3) el AT HIUTT IHERT HAIAT el ST,

Explain concept / terms / units / events (any two)
1) Range
2) Meaning of statistics

3) Derive the passche’s index number from the following values. From
Zplql = 384,2P0q1 = 312

4) Calculate the Arithmetic Mean from the following data.
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Marks | 40 20 50 10 20 30 32 15 25 33 12
X
37) HhoUsT /| AT / TcHh | UAT TISC . (PUTALT arel)

?) faear

Q) wifEgdrar 37y

3) Wrellel HoATeAT YR 9Ied e AR Hrer.
> Piqy = 384,% Pyg; = 312

Y) Wrellel AT TR AR AT Fla.
70T 40 20 50 10 20 30 32 15 25 33 12
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Q.3

B) Attempt in short (any two)
1) Explain the demerits of mean deviation.
2) State the limitation of statistics.

3) Construct the Laspeyre’s index number from the following data.

Group Base year 2000 Current year 2010
Po Jo P: o
A 4 5 10 1
B 7 4 8 5
C 3 6 7 4
D 2 3 7 2

4) Find out the Median from the following data.

Wages (Rs) X 0-10 10-20 20-30 30-40 40-50
Labour quantity f 4 6 8 5 3
d) YSHATT Icad} Tolgl. (HIvTder ged)
?) ool #ATETATT GIY FISC .
Q) Tifeadrear #afer giam.
3) "reliel Afgdlasel STEU3RAr [Heee darR &l
T U a§ 2000 dre] a¥ 2010
Po Jo Py J1
A 4 5 10 1
B 7 4 8 5
C 3 6 7 4
D 2 3 7 2
¥) Wrellel HIfgdd®ed HEIhRT el
AT (3) x 0-10 10-20 20-30 30-40 40-50
fo)
HoHT dET f 4 6 8 5 3

Answer in detail (any one)
(word limitation minimum 200 for each answer)

1) What is meant by standard deviation? Explain the merits and demerits of standard deviation.

2) Calculate the Karl Person’s coefficient of correlation from the following data.\
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X 20 18 17 15 19 14 15 15 16 13
Y 19 25 22 21 13 20 16 17 16 12
ATy 3caX ToIgr. (FIUTdEr Th)
(I 3caiT fhaATe 2reg AATET 200 2AT)

?) WA faeelel #gUTSl HI? YA Aol qur-aly TIse .

R) Trellel AfEAIaEeT el TUIRTTT TEHGE I[UTeh FHlal.
X 20 18 17 15 19 14 15 15 16 13
Y 19 25 22 21 13 20 16 17 16 12
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